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< 10,001
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307 gl2tol & 40,005 44,450 A4, 445
< 10,001
s 30,004
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o HSEH AABIE (170€) 40,005,000& 40,005
< 10,001
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s 6,750
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< 6,750
s 6,750
01 MEIEBEZE+06l= 13,500 13,500 0
o ERAELQ oR AT
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e 6,750
95MI0I & B0l MARFHEZR) 1,560 1,920 A 360
< 1,560
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< 1,560
11T M SXALSE EX 1,560 1,920 A 360
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20,0003 » 789H 1,560
< 1,560
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= 436,396
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= 436,396
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i 130,919
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01 2Ll 1,000 0 1,000
o SEHLO SIS MHEA F&A
20,000 * 2% x 252! 1,000
J| 500
< 250
= 250
SAAE B 2 X 412,302 112,901 299,401
252X 22 43,600 400 43,200
202 o4 H| 600 400 200
01 2Ll 600 400 200
o DXNAEX SIJHAILD) X &0l
20,000& = 1% = 30¢ 600
401 AIEHIZL 2 0HY| 43,000 0 43,000
01 Al&H| 37,600 0 37,600
o 252X FHAY 37,600,000 = 14l 37,600
03 Al 20| 5,400 0 5,400
o 82X HUAMYE =& 204|
5,400,000& 5,400
2 =222 29 338,702 62,501 276,201
101 2121 H] 1,044 973 71
04 JI2ZtHI22 XS 1,044 973 71
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201 LBt 9H| 37,528 37,528 0
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o 2AEX 25,000 * 128tA « 13 300
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o ANEES 20,000& * 10& * 63 1,200
o s&J| M&EHEH Xt 200,0008 = 20 4,000
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o ZEZ&A AN&®mX 22 3,000,000& * 13 3,000
206 M 28 5,000 5,000 0
01 =8l 5,000 5,000 0
o HM&AExy S3Es 200,000& * 15& 3,000
o =23 ZZF A2l ME  2,000,000& * 13 2,000
401 AlEHI 22 OhYI 295,130 19,000 276,130
01 A& HI 295,130 19,000 276,130
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s 104,039
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307 glz2tol & 19,000 19,000 0
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167

MW

HERAE NI (EX) 102,300 99,300 3,000
18,318
83,982

UL

301 et 4= 102,300 99,300 3,000

18,318
83,982

UL

01 A28 X =0dl= 102,300 99,300 3,000
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o 3,000
o JIAE/AEMU Y EH2=H| 3,300,000 3,300
< 1,650
= 1,650
o JIAAEY SZ0ts NJEEEZ2 3,000,000 3,000
& 1,500
= 1,500
IIERE X3 16,800 16,800 0
301 LBt A= 16,800 16,800 0
01 AISIE&E A %52 16,800 16,800 0
o JIAAEOsS FFAE &0 16,800
- == A 20,0003 * 40¥ * 12& 9,600
- st 60,000& = 10 * 12& 7,200
Ols2E XIS AHZE XA 19,390 50,275 A 30,885
= 13,573
= 2,908
= 2,909
301 LBt A= 19,390 50,275 N 30,885
2 13,573
= 2,908
= 2,909
01 AIBIE XX L6 2 19,390 50,275 A 30,885
o OlsgY XEAHZ XA 19,390,000& 19,390
= 13,573
o= 2,908
= 2,909
OIS USAE 2RI (EX) 855,217 822,773 32,444
= 130,383
= 724,834
307 QI2t0| ™ 855,217 822,773 32,444
& 130,383
= 724,834
10 A SXNANEEHESIHEX 849,217 816,773 32,444
o OlsEAAYE 29X& 849,217 ,000& 849,217
= 127,383
= 721,834
11T AISIEXAIEEX 6,000 6,000 0
o EA0E NEHEZ 6,000,000& 6,000
=} 3,000
= 3,000
OESTAE THIXA(ZE) 60,190 57,490 2,700
< 30,095
o 30,095
307 QI2t0| ™ 60,190 57,490 2,700
& 30,095
= 30,095
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M ASIMNSEX 60,190 57,490 2,700
o NEotsUsta sttt 7,500,000& 7,500
£ 3,750
2 3,750
o NsotSMEEE 14,640,0002 14,640
< 7,320
= 7,320
o NEOISYESAY 14,400,000& 14,400
S 7,200
2 7,200
o MESXAE SMT SE4+T
19,080,000& 19,080
S 9,540
[Ea 9,540
o ANE0tsS =0 &l 1,000,000& 1,000
= 500
= 500
o ANE0ts W= FH| 2,000,000& 2,000
£ 1,000
2 1,000
o A&O0lS #DA 2 1,570,000 1,570
< 785
s 785
NeotsE2sd2l2 2H(SHAEXR) 33,774 23,000 10,774
308 XXM SO0IA 33,774 23,000 10,774
07 HAHH2AHEE S 33,774 23,000 10,774
o ZERAUNSESHSI 2% AR 2L
19,659,000 19,659
o NEASNAME 29 AR 2L
14,115,000& 14,115
XEIHE = 19,800 25,200 25,400
301 Lot = 19,800 25,200 25,400
01 Al 2 & X =35l = 19,800 25,200 25,400
o X&EINE+E XN 30,0008 * 55 » 123 19,800
ASotsdEH 28 K& 726,022 797,412 AT1,390
= 363,011
S 145,204
= 217,807
307 glztol & 726,022 797,412 AT1,390
= 363,011
< 145,204
[a 217,807
10 AMASNANEEESEHES 726,022 797,412 AT1,390
o XNotsdH J=22 | 726,022,000 726,022
= 363,011
= 145,204
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E+==28d N& 7,776 23,256 A 15,480
= 3,888
< 1,555
s 2,333
307 glz2tol & 7,776 23,256 A 15,480
= 3,888
< 1,555
s 2,333
10 ALl SXAIEEE2EH EX 7,776 23,256 A 15,480
o XNAOsSHE S84 XY 7,776,0008 7,776
= 3,888
< 1,555
s 2,333
EE A& 10,368 27,000 A 16,632
= 5,184
< 2,074
e 3,110
307 21201 A 10,368 27,000 A 16,632
= 5,184
< 2,074
e 3,110
10 ALSISXAIEEE2GHEX 10,368 27,000 A 16,632
o XNY0tsHlH ER2FH X
10,368,000 10,368
= 5,184
< 2,074
s 3,110
S+ NYotsdH XA 46,714 0 46,714
= 23,357
< 9,343
e 14,014
307 glz2+ol & 46,714 0 46,714
= 23,357
< 9,343
e 14,014
10 ALSISXAIEEE2EHEX 46,714 0 46,714
o % NIotsHdH X2 46,714,000 46,714
= 23,357
< 9,343
s 14,014
Ots=XI WAL ItA 188,160 188, 160 0
= 94,080
< 37,632
[ia 56,448
101 @124l 188,160 188, 160 0
= 94,080
= 37,632
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04 JI2ZtHIZ22NEE S 188, 160 188, 160 0
o OtsSEXNDAH(AISIE LX) X
188,160,000 188, 160
= 94,080
& 37,632
= 56,448
KNE0ISHE 29 SHXK(EX) 415,360 332,040 83,320
& 91,424
= 323,936
307 2iz2tol & 415,360 332,040 83,320
< 91,424
= 323,936
11T A EXAIEEX 415,360 332,040 83,320
o XNY0tSHEH 0IS0ls SZ 22 A A8 22
Hl XI& 2,640,000 2,640
& 1,320
= 1,320
o XG0S HE SAIAN S8€4Y
25,200,000 25,200
= 12,600
= 12,600
o XNE0otsHE 34| 387,520,000& 387,520
o 77,504
= 310,016
ols 2stgs I 3,000 3,000 0
307 QI2t0| & 3,000 3,000 0
02 AI2tAAMAIE E =X 2,000 2,000 0
o AYE0tsHEH 0ls 23AHE
2,000,000 = 13| 2,000
04 CIZ2tSHALALS B X 1,000 1,000 0
o XNE0ls4HdH Ols HEYES
1,000,000 = 13 1,000
otEZAal(EX) 439,425 439,425 0
= 296,284
= 143,141
307 QI2t0| ™ 439,425 439,425 0
= 296,284
= 143,141
11T A EXAIEEX 439,425 439,425 0
o Bst=E Ols3A X 190,855,000 190,855
= 47,714
= 143,141
o 8)5 E28Y OISIAXR
248,570,000 248,570
= 248,570
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CEAEE SgAd2e NA(EX) 268,200 300,000 A 31,800
= 268,200
101 @14 Hl 91,080 95,040 A 3,960
= 91,080
04 JIZHHZ2XNHEE S 91,080 95,040 A 3,960
o JI2tM 22X 22|
1,800,000& » 3% » 12&8 64,800
= 64,800
o JI2tHl 22X 2oyl
20,0003 = 12 = 3H » 123 8,640
= 8,640
o JIZtH 22X E8FEZ2
1,800,000& * 3H 5,400
= 5,400
o JIZtMl 22X 4028 =
220,000& = 3H » 123 7,920
= 7,920
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120,000& = 3H = 123 4,320
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4,000,000& = 44! 16,000
= 16,000
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= 3,600
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= 1,920
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